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Beenenue B Bcero 6 8 14 1.BeicTaBku
KOHCTPYMPOBAHUE U Teopus 4 5 9
IpOrpaMMHUpPOBAHHE Mparrika 5 3 5 2.CopeBHOBaHUS
2. KommsroTepHoe Beero 16 . 16 3.Konkypcet
MPOSKTUPOBAHUE U
MOJIETIUPOBAHHIE Teopus 3 - 3
[paktuka 13 - 13
3. TBopueckne 3aHATUS Beero 6 ; 6
“MBI KOHCTPYKTOpHI...”
Teopus 1 - 1
IIpaxTrka 5 - 5
4. CopeBHOBaHUsA Beero 5 5 10
Teopus - - -
[paktuka 5 5 10
5. Bsenenne B RoboPro Beero - 20 20
Teopus - 5 5
[IpaxTrka - 15 15
6. Hrtorossie 3aHATHS Bcero 1 1 2
Teopus - - -
[IpaxTrka 1 1 2




